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1. "The function of management accounting is to provide data and not the ............. . .
What will come at blank space ?

(1) decision (2) costs (3) analysis (4) liquidity
ATEIPR-AGGH BT B R MBS IUGRT BRAFT A B —
Rext v wR 1 smny ?
(1) frfg (@) @ (3) fazeryor (4) axe
X 2. Budgets are the comprehensive plans of : |
(1) estimation (2) action
R (3) budgetary variances (4) organising
| qoIT ARG Aoy B & -
(1) srgarit (2) Frfard =t
(3) T P qEAfReE o 7 (4) FTERer F

3. Which orie of the following is correct ?
(1) Budgeted Sales ~ Standard Sales = Value Variance
(2) Budgeted Overheads - Actual Overheads = Volume Variance
(3) Budgeted Overheads + Budgeted Output = Budgeted Ratio
(4) Actual Cost = Standard Cost — Labour Cost Variance
f=1 % @ B Az g 7
(1) o R — gy e = e fify
(2) 9T @ - aafaE @ = "1 AR |
(3) T @ + I ST = o BN
(@) Tafde AT = garg ST ~ 87 wITer fareirfey

4. Here are three equationé :
a. Change in Profit + Changé in Sales = P/V Ratio
b... Variable Cost = Cost of the items
- ¢ Fixed Cost + Cost per Unit = B.E.P.
Now which one of the followmg is true about these equatlons ?
(1) Only '¢' is correct _ (2) Only 'b' is correct
(3) Only 'a'is correct - _ '(4) Al the three are correct
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gt ® e §
(@) @t % aRada + g # oRedE = AT /AT SO
(@) oRed=ee AT = 77 B AT
(|) el ST - ufd g ara = fogodlo
9 @ B IR # Fr § W A wer & ?
(1) Bae w qEE A 2) 90 T WE B
(3)%33‘31’14@% : . @ A H R E
5. Current Ratio = 2: 1, working capital = Rs. 50,000. What will be thé valué of current
liabilities ?
(1) Rs. 25,000 (2) Rs.1,00000  (3) Rs.50,000 (4) Rs.13333
Hre I =2 1, AT, o0 = 50,000 To | o1, STl Y ¥ R & ?
(1) 25,000 %o (2) 1,00,000 To (3) 50,000 To (4) 13,333 Bo

6. The Lease rentals paid by the lessee are :
(1) legal aspects of the contract
(2) less important contents
(3) the tax-deductible expenses for the lessee
(4) non—tax_-shjéId items under the lease-éontract
gemErd g1 R T TEHRE W €
(1) oo & T UEgHll ¥ I3
(2) HA-HEwd B IIqd
(3) TREWERI FR-UTHA WY
(4) R FE—aTd B 7S TSRS B A

7. Ratios calculated from the financial statements play triple rate in an enterprise—
' historical, contemporal and :

(1) astrological . : (2) financial display
(3) astronomical . (4) logical ’ _
wwﬁﬁ%%ﬁﬁmﬁmmmmm%umﬁ ;
T, FHEEEE AR

(1) e | @) frdmyada
(3) e (4) TEETT
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8. Net Profit Margin is calculated with the help of :
1 Earnmgs‘after tax + Sales (2) “Earning before tax + Sales
(3) Earning after tax + Gross revenue (4) .E'arning before tax + Net revenue
Y- W Y TTor e ¥ & et wed § B okl 7 7
(1) BR-vTa o + g (2) -4 I + fasFg
(3) PR-UTAI IS + ADA-TIT (4) BR-GF 3G + Yg-AeE

9. Net Profit = Rs. 16,000 (as per P & L A/c); Provision for Bad Debts = Rs. 5,000;
Depreciation = Rs. 15,000; Proposed dividend entered in P & L. A/c = Rs. 10,000;

Provision for taxes = Rs. 2,500; Preliminary expenses = Rs. 1,500; Profit on sale of
machine = Rs. 13,000.

The Cash-flow from operating activity will be : _ |
(1) Rs. 37,000 (2) ‘Rs. 50,000 (3) Rs. 33,500 (4) Rs. 31,000

'gawq_lf,ooom (M-I QATTER), §aq Y &1 JaaH = 5,000 %o; ¥4 = 15,000
o, AM-BIM @ ¥ frar gan wRamad i = 10,000 To; B HI Hau= = 2,500 Bo;
URfE @ = 1,500 o; HYF & fasa W @ = 13,000 %o

ufvare fFamit § TH-vaE gn |
(1) 37,000 To - (2) 50,000 %o (3) 33,500 %o (4) 31,000 ®o

10. An analysis consisting of a study of the behaviour of each of the items in the financial .
statements is called :

- (1) Stewards analysis , (2) Event analj;}sis

. (3) Inductive analysis 5 (4) Horizontal analysis
| ﬁ??raﬁawha%maﬁaqa%wa%wmmmﬁwﬁwwm%
’ (1) e Rgerr (2) =e fagemr
(3) & R | (4) ST fgereT

'11. Shares issued to debentureholders of Rs. 10,000 at par, and the short-term loan was
given back of Rs. 60,000 . What was the effect of these two transacnons on fund
flows ? : '

(1) The flows will decrease by Rs. 70,000

(2) The flows will be affected by Rs. 50,000

(3} There will be no effect on working capital and funds
(4) Funds will increase by Rs. 70,000
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__ A
FUTHIRGT &1 34 AHfPa o1 R RY M0 10,000 $o &, 3R 60,000 vo & wg-om@fy &
O JHY Y| FA S-S HT BUG B YAE W FAT YHIT gIAT 2

(1) &t 70,000 $o I w5 8T

(2) warE 50,000 $o W wafag e

(3) I YSh den wuSt W FIE wwrg E B

(4) ®T$ 70,000 To T

12. If the capacity usage ratio of a production department is 90% and activity ratio is 99%,
the efficiency ratio of the department will be :

(1) 120% ) 11% (3) 99% @) 110%
wwmﬁwmmmmmaﬁqm%m%wmw%%% a‘rw
fmT &1 SrEeTT o BT

(1) 120% (2) 11% (3) 99% (4) 110%

13. When the sales increased from Rs. 40,000 to Rs. 60,000, then profit increased by
Rs. 5,000. On the basis of it the P/V ratio is :

(1) 20% (2) 25% (3) 50% (4) 15%

W9 faEa 40,000 Bo A/ FGIX 60,000 To T, A FH 5,000 To ¥ 97| W IWR W
A /AT 3 R

(1) 20% (2) 25% (3) 50% (4) 15%

14. Under a concept of accounting a business should provide all relevant information to
external users for the purpose of sound economic decisions. That concept is :

(1) Full-Disclosure (2) True and fair annual report

(3) Economic interest of stakeholders (4) Standardized report

AEH B T GR B RO TS AEAAS IHTE B qel-Afdal @ g8 e Pty
o B R A TN IuI GIAK g7 B Afed | gy awon ) 2 ¢

(1) pl-gadiaer s (2) ¥4 Tt W= qiffe Rard &
(3) sienRal & e feq A (4) g Rord &

15. Positive methodology of accounting theory is also called :
(1) Normative methodology (2) Predictive methodology
(3) Descriptive méthodology (4) Prescription-approach
IEiHT RigT=1 & FHRIES Yol fsm 31 Fe o #
(1) scel yomel fagmT - (2) 9w o yorelt fagme

(3) TUTHS EE vomer fasne of (4) FrafRorsfym &
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16. The process of reporting an item in the financial statements of an entity is :

(1) Allocation {2) Matching (3) Posting (4) Recognition

Wﬂﬁﬁmiﬁfﬂ?ﬁuﬁwﬁﬁfﬁ@#%maﬁﬁﬁ%

(1) ansest (2) e =T (3) e (4) sfosm

17. Three combinations are given : | |

a. Expenses . Efforts

b. Revenue © No accomplishment

c. Expenses :  Expired costs
‘ Which one of the followmg 1s correct about these combinations ?

(1) 'a','b' and c¢' all are correct (2) 'a'and 'b’ are true and 'c' is wrong
. (3) 'a’, and '¢' are correct, 'b' is wrong  (4) only '’ is correct

e T R T # '

@) @ N £

@) & e W

(@) g : IEfe anTd

P % & Bel a7 A e S AR ¥ wE g o

o, Tanwdiadd: (g AN T W E R W e R

@ M e TN TR (g mwa@%

18. A p-rinciplé- objection to the sfraight line method of depreciation is that it ignores
variations in the rate of : . o
(1) inflation ' ~ (2) interests

(3) assets-use - (4) assets demolition
. w%ﬂm@aaﬁ%ﬁwwwmwa@%%%%ﬁwﬁﬁ%ﬁw#
faeRoT oY 9an Hed R
(1) ey o & Q) =T = B
(3) FHfedl & yanT 5% 9 (4)Wcrﬁ~‘nhzﬁwfﬁmwa%

19.  Accounting standard-6 (Rev1sed) deals with :
(1) Depreciation Charges '
(2) Depreciation Accounting
(3) Depreciation Measurement and Concepts
(4) Depreciation Charges by Rails
RATHT FHIG-6 (Fenfera) Wiy & ' J
(1) B yoRl 9§ (2) T FHT |
(3) ¥ ® HIYY U gROy  (4) Y BRI BN IR @
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20. Generally which inVentory cost method approximates most closely the current cost
for each of the following ? '

- Cost of goods sold | Ending Inventory
a. LIFO o FIFO
b. LIFO : LIFO
c. FIFO o FIFO
d. FIFO LIFO _
(1) only b’ is correct (2) only 'a’ is correct .
(3) 'a' and b’ both are correct (4) all are correct | .
e T @ Pre f A W @ g el & geted @ Rl o 7
@) Fe - Ry
@ R fore
(@) et | fopeY
(x) Rt | feremt
(1) a7 T & | (2) BT & W E
(3)_‘3’31‘1?'&‘3’!#?1@% 1) o a2
21. "Future economic benefit is the essence of oeeeene 2., and the liabilities are .
measured in conforming with the .......... Lo SR "

Which one of the following will correctly complete the statement ?

(1) at'a miachine, at 'b' value (2) assetin'a’and cost-principle in b’

(3) revenueat'a and cost at b’ (4) revenue at 'a’ and cost incurred at b’
gfqs anffe-am .......... < SO F1 R B, AR Gyl B AT G ® ITHU
foar S B 1" | -

fret 3 W P e e B A S R w@

(1) ‘o ¥ 7, 9 A g @ o ¥ w3 H R

@) ‘& # rmE, ¥ § A @) & H anrrﬁ, g ¥ AT 9018
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(1) Balance-Sheet ' (2) Income Statement

(3) Statement of Retained Earnings (4} Fund Flow Statemerits

@ P Richa-feRer a1 v e 2 - |
(1) Rerfit fiaor 27 (2) 3mg R o

(3) YT SuTStAY W7 fyawor (@) ¥ yaE fEwer ey

23.  Which one of the following is true about Interim-Financial Reporting ?
(1) Itis covered by SEBI guidelines and the AS-25 |
(2) Itis covered by SEBI guidelines and the AS-17
(3) Itis covered by AS-1
(4) Itis covered by AS-25 and AS-28 :
aﬁﬁq-ﬁﬁ%q(ﬁfﬂu)%&&ﬁﬁm#aﬁmmwm wErE
(1) & di-mrtaienst @ v w25 & grr amafers B &
(2 FE Sd-mrieRiFt o v w17 @ grr e By &
(3) ¥ T U1 B g1 R i & -
 (4) TE T TE25 Ao ¢ 028 B g7 araRer Bt 8
24, When computing purchasing power gain or loss on net~tnonetary items, which of the

following items is classifield as non-monetary ?
(1) Advances to unconsolidated subsidiary
(2) Advances for allowances |
(3) Unamortized premium on bonds payable
(4) Accumulated depreciation on equipment - _ '_ : :
mg@-qﬁﬁwﬁwmﬁaﬁmmaﬁaﬁmaﬁmémﬁwﬁﬁaﬁq—ww <
(1) sremfda-werast ot afm
(2) W & afdm -
(3) ¥ dvst 77 arReY g
(4) IR R Goforg g |

MPHDURS-EE-2013/Commerce/(4) o - | P.T.O.




28. Lee Seidler's income-statement is associated with

(1) Human Resource Account (2) Human Resource Statement

(3) Human Resource Model _ (4) Social Accounting and Reporting

S dreee BT Arg-faRer w2 . | |

(1) wFE-HEA B reinii] C(2) wFTE-EmE e H |

(3)'nma-wm’saa -(4)mrﬁ?ﬁﬁa@‘aﬁamﬁq‘ﬁvﬁ
26. How many major determinants of the human resources are there according to Organ ?

(1) 7 (seven) (2) 8(eight) (3) 9(nine) - (4) 10 (ten)

W%WW~W$Wmeﬁ%§.?

(1) @@ (7) (2) ¥S (8) 3 ) (4) =9 (10) o
27. Broadly speaking, the managerial economics is :

(1) micro economics: (2) applied economics

(3) price theory (4) atrade economics

AT T AR, YERHT R i1
(1) geA-arRieme () wEERE-swRiee
(3) Fr-fagr (4) T AR B Frefome

28. The central theme of the consumption theory is
(1) Utility maximizing behaviour of consumer
(2) Utility function
(3) The study of indifferent behaviour
| (4) Hibdon's price-mechanism of firms _
SyinT-frgr @ S g § | 7
(1) SwiaRT & gResReT e FRA P AT
2 Tegrad
(3) qeR-AIER I AT
(4) fages &1 HwA-aA waf P

29. The mathematical presentation of the input-output relationship is the presentation of :

(1) Rational Production (2) Rational Productivity
(3) Production Function @ Performance-Index
PriegaqTEd @ W Bl T FHTR L

(1) fredia ScET & (2) e Semeiear &1
(3) SEA-THE B (@) FreET-afRES B

MPHDURS-EE—2013ICommerceI (A)
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30. (Price - Marginal Cost) + Price, indicates :
(1) status of competition (2) oligopoly
(3) imperfect competition (4) monopoly power
(@ — AT ATT) + P, 20T eear & . '
(1) wfedfiar o Rafe (2) sreqgferafirar &1
(3) ot vt @ (@) TERER T 3T
31. 'The Revealed Preference Theory' of consumer behaviour was proposed by :
(1) D.Ricardo (1947) (2) J. M. Keynes (1495)
(3) P.T. Elsworth (1947) (4) Samuelson (1947)
(1) Blo Rarst 7 (1947) (2) So THo BINT ¥ (1495) §

(3) do Eo vewraef ¥ (1947) (4) =TT 7 (1947) &

32. Below are the statements :
a. Simultaneous multiplier is also called 'logical-multiplier'.
- b. Marginal efficiency of capital is also called 'internal rate of project.
¢. GDP = GNP - Net agriculture income.
- In these statements : -
(1) only ‘a'is correct " (2) 'a','and 'b* are correct, 'c' is wrong .

(3) 'a’, 'b and '¢’ are correct ' (4) 'a’,'b"and '’ all are wrong

9. gl @1 e e @ sraRe-av N sEend! &
4. Sfododio = Hogdoto — Irg HfY o |

T UheH! A - _ ' '

(1) 38 ‘&5 1 & (2) wam g e € | T &

(3) &, T W u O wd # @ wT A w o e S Y
33. Harod-Domar assumed that society saves a constant proportion of the :

(1) personal income ~ (2) national income 7

(3) increased income (4) social income

BIS-SIWR A A & off &5 ST qaner @ e Rer 1T :

1) =fa ama &1 - (2) T 3T

(3) 93! g M @ N (4) ATIRTES 3T BT
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34. Fighting with depression would require a ... P ) e and controlling the
.......... (ii).......... requires surplus budgeting.

Which one of the following combinations would |
complete the statement correctly ?
(1) deficiency'target at (i) and deficiency at (ii)'
(2) deficit budgeting in (i) and inflation in (ii)
(3) fiscal-discipline in (i) and inflation in (ii)
- 4) fiscal-budgeting in (i) and inflation in (ii) :
T B W TS B TR oD B oERd Bl & AR (1) I B frraeo
¥ Ty @ ) aRew-gwfeT Y savgee B B | |
fyey ¥ ¥ SF-a1 e @rell ol @ wE ¥ e ? -
(1) orTa-w&q (i) ¥ o 3T (i) # S
(2) =TeT g9re (i) ¥ Ten gerenfy (i) o
(3) ORG-S (i) # T FEWHI (ii) H
(4) ToTEE-gArRT (i) ¥ dUv gETEBIS (i) |

35, Ricardian Theory of International Trade suggests one of the following for gainful
trade between two countries : :

(1) A Theory of Absolute Advantage Q) A Theory of Factor Endowment
(3) A Theory of Comparative Advantage (4) P.P.P Theory
Rt @1 sraeisia AR R Fr ¥ ¥ 0@ g@a 2 ¥ O ) gl § oot AR

@ ford gr &
1) Fee v @ fagra @) T B e Ay Rgr
(3) qerTTE BRIE BT Rigr (4) o dro Wo RygT=I

36. Who does work as the 'custodian’ of the foreign exchange of a nation ?
(1) The Federal Bank
(2) The Cartels of the Banks
(3) The Syndication Foreign Exchange Markets
(4) The Central Bank of the concerned Nation
@ U @ RRW-Rfvr @ oReee 3 wu F B9 FE e g 7
(1) Bt & |
(2) 9%t & T8
(3) freeh fafrag st @1 Rifdsm
(4) TR T B BT 6

MPHDURS-EE-2013/Commerce/(A)
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37. The Theories of early business cycles theorists are jointly known as : .

(1) Monetary Theory-of Business Cycles

(2) Fluctuating Theory of Business Cycles

(3) Ohilin’s Theory

(4) Carlyle Theory of Business Cycles :
'(1)mmaaﬁaﬁmm$ﬂmé |
(2) AT TH B QAT oA B m oy
(3) nfefer Rigra & wm & '

(4) ITET T B Dol A B A Y

38. National Income = Rent + Wages + Interest Plus :

(1) Foreign Exchange Surplus _ (2) Foreign Income
(3) Labour Surplus (4) Profit .
WW=M+W+WWW:_
(1) == Ry & g99 (2) fagsh amg
(3) 7o g | (4) =
39. The process of‘strategic choice is essentially a ;
(1) decision—_making process. - '(2) choice of objectives
(3) strategy implementation : (4) process of strategy intent
TE PN e A wfvan v o 4 2
(1) fofar o8 =1 (2) Skt @1 g e
(3). IE-FA B AR P | @ IE-BIE B ReR T 9 ufpar

40. The Boston Consultancy Group gave an afray of elements in rows and columns and
cells. Each cell represents a particular type of : '

(1) Organisational design "~ {2) Performance level

(3) Developed-areas : (4) Business o
mm@#w_mm-mw,mmmﬁﬁmlﬁﬁm
A v s @ T ﬁ@m_ frer & - _ ' _

(1) e g #r (2) Frares w= @7

(3) Sra-grait @) ' (4) =TamE T

MPHDURS-EE-2013/Commerce/(A) — : | P.T.O.
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41, The manageriai task of strategy implerhentation rests on:
(1) Analysis and discussion
(2) Action and doing ‘
(3) Analysis and control
(4) Participation and objectives of managerial authorities
'W$W%§m&ﬁummﬁmwm%:
(1) Redwor vd = W
(2) riamer Td FriEam W
(3) faeeor vd fmo W | e
(4) waErAa ST B A T SRE W

42. Strategy by itself does not lead to:

N (1) structure - - (2) plans

~ (3) action (4) appropriation
g wd e e ol -
1) &= & ford (2) de B ford
@) sad & (4) s @ ford

43. A control exercised with the help of contingency strategy and maintaining crisis
management team come under :

(1) Special control alert o,
(2) Spécial control strategy and alert matrix

(3) Pareto Law |

(4) Graicunas' Law

mﬁa%gzaﬂvﬁaﬁwmmﬁﬁmmaﬁ?ﬂm-mﬁqﬁmmﬁmﬁ
arerta amm 8 7

(1) fad P Fa@ & | |
) fadm = qEHEE A wae dfeda @
(3) e Prm B |
(4) g FEm &
: MH_'!DURS-EE-.’ZO‘!SICmmerceI(A)




44. The apphcanon of the strategy commits an organisation to predetermined :
(1) Course of principles - {2) Course of future action
(3) Course of policy framework -~ (4) Course of scientific methbds
JEPRIC B SUAT V& @IST B Ioag B & Tw & FeiRe |
(1) Rrgrei 3 gRemw & oy 2) “fer & feemem v & gy
(3) #rﬁ-aﬁa%féma%;r% (4)%%%%%01%%

45. Something that articulates a position that a firm would like to attain in the distant
future is known as :

(1) Strategy position 2 Vision
(3) Stretch (4) Leverage

@ﬁmﬁwﬁuﬁmwm%ﬁlﬁw'wmqﬁw@rﬁmm
aTEN 8, IH T AT &

(1) gEwre Rl gre (2 TR
(3) 99 g™ : - (4) I g™

46. Which one of the theory of strategic management uses the mathematical models to
interpret the process of non-linear and dynamic system ? Select from the following
choices :

(1) Levis Theory of Strategy Formulation
(2) Carton's Theory of Systems

(3) SBU—Theory of Systems |

(4) Chaos Theory of Strategic Management

'Wmﬁmawﬁzﬁaﬁ?ﬁﬁ?msmwﬁmmwmaﬁ@awnﬁ?ﬁa
_ww&ﬁaﬁﬁﬂamm#Eﬁm%mw%?ﬁwﬁﬁfﬁv

(1) ggwrere Fafr &1 ofda Rrgr er
(2) Wa%wzvﬁa%ﬁmlm

(3) THodlogo Rigr=y (omeh) g |
(4) IS Ja BT AR Righd gRT

MPHDURS-EE-2013/Commerce/(A) ' P.T.O.
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47. Organisational resources plus organisational behaviour create :
(1) strengths and weakness within the internal environment
(2) design
(3) matrix-system
(4) SWOT-conflguratlon
TSI T STl TS SIEER S IR §

1) AFIRE arTERTT 3 e Td wAoNal

(2) @
(3) womeN-=aT
(4) wEre-rpia
48. Which one of the following is nof the reason for adopting different stability
strategies ? -

(1) the environment faced by the corporate unit is relatively stable
(2) the environment is changing every time |
(3) stable strategiés themselves
(4) workers participation
Prey # & BT PROT Rerar Y BT g BT A BT e 27
(1) ﬁﬁwmmmmaﬁmwaﬁaﬁmﬁmaﬁa%m
(2) aTTEReT AT FEEA TEM A
(3) foR Tg Prererrt Jw g
(4) #t¥at B AriEry
49. A cooperation between two or more independent firms involving shared control and

continuing contributions by departments for mutual benefits is known as

| (1) strategic takeovers (2) a strategic joint venture
(3) a strategic alliance (4) a strategic syndicate]

aﬁmaﬁﬂaﬁ?ﬁmwﬁa?nwwmﬁra%%ﬁwﬁaawqaﬁwﬂﬂ'
sroraT ] AR AR S TEER) EANT @ ¥, 9 S S F

(1) GRS wEed B aTgERY (2) TF GRS FEE BT HYHR-AE
(S)Q?ﬁmﬂﬁiﬁﬂﬁ?ﬁﬂﬁl (4)Wwﬁﬁ$%ﬁrﬁmmﬁa

MP’HDURS-EE-2013ICommercgl(A)
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50. In terms of the market, 'focus business strategies’ are :
(1) central strategies : (2) reliable strategiés
~ (3) business improving plans © (4) niche strategies
R & Ef aears dfed gE-hfadt el € 0
(1) F gt (2) Q1 ggedt
(3) TEE GIRY @ A  (4) e gE
51. The formula "+n =(1.96 S.D.) + Precision” is for finding out:
(1) statistical truth ‘ (2) maximum samples number
r (3) rninimﬁm sample size (4) standard error of standérd deviation
T "JH=(1.965.D.)_+W S & Pt ¥ @ 3 1o Preres B R
(1) wifeEsw ggar (2) T B A el
(3) TR BT ATH ABR (@) wA-Rree @ wAE-aR
52. Which one of the following is correct ?
(1) When the statistical error arises due to smaliness of the sample selected, then that
is known as error of inadequacy '
(2) Small-error is sample format
(3) Smali-error of sample format is always significant
(4) Absolute érr(;r should never be taken care of
fre & § e AT R ? -
1) mW-ﬁWu%ﬂéﬁ%maﬁ%,ﬁwmaﬁgi%%mﬁ
@ PR sed wic e & :
(@) st wrte B PR S TEREt B @
@) Froder 3fe B @ o W T e e
53. Which one of the following is the posiﬁonal average ?
- (1) Moving Avefage (2) Harmonic Means
(3) Progressive Average : 4) Moade (or Z)
ot % & Pr-ar s e & ? |
(1) v e - () & i
| (3) WY T | (4) T (a1 FETT)
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54.

55.

57.

 The second moment of dispersion is also called :

(1) wvariation (2) variance

(3) modulus (4) kurtosis

forora &1 et Fwerer 2 -

1) ﬁrﬂwiﬁ_ 2) = W |
(3) Wiy (@ Y (@)

‘Which one of the following describes the shape of the distribution ?

(1) Geometric mean : (2) Range
(3) Median .' (4) Skewness
ﬁﬁﬁ-—r-mﬁawa%mwmhm%?

(1) >ofdy s (2) Rwr

'(3) Wegwy (4) Rewar

(2 -r?)+ VN indicates :

- (1) Probable error of r’ | (2) Trend of 7",

(3) Sheppard's correction for v’ (4) Standard error of r’

(1-r?) <N samr ¢ -

) 7 P e ) v B SRy
B) ' P o dud & wgfs 4) 7' B wnfa-fe
In regression analysis the variable to be predicted is called :
(1) 'Independent variable _ (2) Dependent variable
(3) Predictive measure (4) Regressional attribute

mﬁm#mmﬁwwmﬁmmaBﬁﬁé%:




58. In how many ways can the letters BASKET be arranged ?
(1) 720ways - (2) 6C, ways - (3) 36 ways (4) 1760 ways
BASKET @ quil @ R it & arafer famam on @t & 7
1) 720 WHF (2 6C, VI A (3) 36 AP A (4) 1760 TP &

59. The reciprocal of standard-error is a measure of :

(1) precision of the sample (2) confidence level
. . {3) confidence interval (4) error-proportion
TAG-IE F7 Seet (@l 1+ S.E) 79 B @
(1) wforasl Bt Fewar &1 ., (2) fowam wrR @
(3) forearl orR (4) FR-orgamT @1
60. Formula: t = [(3 - 0)+ SWN i5 fOr coeoereccesivssiven @nd the formula Z={(x -y +c
T3 {0 SURO . : '

Which one of the following will complete the blank spaces correctly ?
(1) Difference-test’ and ‘'normal-variate' respectively

(2) 'D. Fisher's-test’ and 'u-test’ respectively

(3) 'Test for number’ and 'G-test’ respectively

(4) 'Difference-test’ and 'mean-test’ respectively

@ t=d-0)+SVN ..o PRI 8 R GIZ = (X = 1)+ 6 veerrrerrrneeene D AT B
fre # & Bl el T @ W R ? -
E (1) ‘R AR AH-fATR’ wBa
2) o fHIR BT T TA LK HA
(3) et & Rr) o @ THIU-CEE T
(4) oIS T AR T

61. One of the following methods of testing is used for testing ‘the 51gruf1cance of
difference between the two correlation-coefficients :

(1) Proportion-test method ~ (2) Z-transformation-test method

(3) Fisher's Z-test method | (4) Furgusdn's-test method

MPHDURS-EE-2013/Commerce/(A) ' _ - P.T.O.
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| e % 4 TP q8®T QA TEEERIOS D AR B AT B S I D By §

TN AT B |
(1) U T (2) rs-uRad-c= adFHT
(3) R P Sre-2ve W C(4) BEER T
62. A test that refers no assumption about the shape of the populat10n~dlstr1but10n is :
(1) Non—parametrlc-test of mean (2) Distribution free test
{3) Runs-test ' (4) Sign-test
wéwﬁﬂﬂmﬁrﬁwﬁmw%mﬁmm$m§ﬁﬁﬁw T TR
- B FEd § |
(1) ¥rg &7 WTARAD ST (2) Ao <
(3) Few - (4) wIg-eRT

63. A tool of statistical analysis that is for the purpose of testing the hypothesis of
'whether the means of several samples have significant difference or not'. That is :

(1) Analysis of variance (2) Wilcoxon-test

(3) Friedman's-test (4) Kruskal-Wallis test

W AR S Wik R a4, o¢ gRedt @ el /et § oeR @) wEe
w9 d e ¥ yan # amr o d, S eed §

(1) SeRvr-Rreo , 2) fRemad- é«a

(3) wigeew (4) mEB-aNTE S

64. Which one of the following statement is correct ? _
(1) 'Operating business environment' is also called micro-business environment
(2) 'Remote environment' is also known as business environment
(3) M. Porter gave "Rivalry-model”
(4) Value activities are of 7 kinds
Fret § B Foe Wl R 7
(1) IR Faary wieRyr geH-aEaiie gafay ff e §
(2) ‘gRadl iR P FEaERe-gatRe & w9 § Ff 9 o ¥
(3) o WER ¥ ylremt-dtew R | |
(4) T-uparg da R B B &
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According to which view the business is an ecological one ?

(1) Modern view (2) Friedman's view

.(3) H. S. Singhania's view - (4) Contemporary Aview
e gRePIT & IR AR T IR & P

(1) omgfre gieprorgeR () wigE B gRewETTER

(3) THo THo RENFRN F gRePITAR  (4) FEARRE FRePIMIAR
The Chairman of the Central Consﬁnier Protection Council is the :
(1) Central Minister of Consumer Affairs |

(2) The President of India

(3) The Chairman of Federation of Consumer Production Items

(4) The appointed guy by the Central Government

DI ST R BRI B e A

(1) SwET FRe B SE 7

(2) RGBT AR .

(3) YW ST H?ff B tbs%wr Gl ﬁw‘h

@) Wmmﬁgﬁmﬁa

The Industrial Policy Resolution of April, 1948 contemplated :

(1) Dual economic plaming . (2) Mixed economy
(3). W.TO. system ' " (4) Dunkel proposals
i, 1948  SheMfie R s ¥ o e

(1) a‘l%ﬁanﬁ'cﬁa‘lwwaﬂ (2) PP srefargzen &

(3) Rva @R WTET B FOIH B (4) S wearE T

The period of 2012-2017 is for :

(1) 11thFive Year Plan (2) 13th Five Year Plan

(3) 12th Five Year Plan : (4) 14th Five Year Plan
2012 % 2017 7% B S & - | |

(1) 118 gaasty Qo & R ) 134 veadta g & ol
(3) 128 duasty dreEn & R @) 148 veadta o @ o

MPHDURS-EE-2013/Commerce/(A) . ~ P.T.O.
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89. To promote rapid economic development through creation and expansion of
-+ infrastructure is the objective of :

(1) Foreign Direct Investors _ (2) Public Sedor

'(3) Multiretail Im-res-tors (4) Private Sector

e sifdie R ) smrqT @ B A9 vd AR B ERT e o), Sew &
T (1) R v fRw () R & @ |

(3) TG FRT! H1 (@) R &5 T

70. InIndia, the Fiscal Pblicy operates through the :
(1) Planning System
(2) Planning Commission -
(3) Central Board of Direct Taxes
(4) Budget ‘ '
ey # rorea-AfYy fred oy aRenforg aid @ 2
(1) o gomeh & Wl
(2) T ST F SRy
(3) TUE-RI & Iy O B Wy
(4) 9 & WY

71. Union-taxes have been laid down in the list of :
| (1) T.he‘seventh schedule of the Constitution
| (2) The eighth sche;:lule of the Constitution

(3) Fiscal Policy

(4) The guidelines of the Ministry of Finance

e # fFaiRa 5 1o # -

(1) wfau= & aedf aroh 3§

(2) dfRE & arad Treof ¥

(3) o ey 4

(4) s oifs w1t & PRt §

MPHDURS-EE-2013/Commerce/(A)
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73.
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MSME stands for : - |
(1) Medium, Small and Middle Enterprises
(2) Micro Service Middlemen Entrepreneurs
(3) Managed Services of Ministry of Exports
(4) Micro, Small and Medium Enterprises
THowHoTHogo P H W fred aR A # 7

(1) A, e T fredt TOIESE

(2) T AR P SRR

(3) #oe wfid sife M 3T TFEUCH

(4) TS, e Ue AfETH gewEAS

An mdustrlal unit with the debt-equlty ratio of 1 : 1 and with the cash-loss will be
called : _ :

(1) sick unit ' - (2) weak unit

- (3) cash-cow unit (4) care demanding unit

waﬁzﬁﬁﬁ?mmﬁﬂwml .1 2 gon °9 T@E wfy N 8, A g€
HEARA

1) R 3F73 (2 PAAR TBE
(B) THETH WHE (g e AT e g
EPCG stands for : | |

(1) Environment Protection for Capital Goods
(2) Export Promotion of Capital Goods

(3) Export Promotion of Current Goods -

~ (4) Environment Protection of Core Group

§oﬁoﬁoﬁﬁoﬁ-‘rﬁfﬁﬁﬁ?ﬂ$ﬁﬁ%?
(1) Tard=ie sae BR B T
) e ST ST B T
(3) T WA 3 BT T
(4) garisie MeeE affe PR I
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78. ‘The eight round of Multilatera] Trade Negotiations' is popularly known as :

(1) Dunkel Round (2) Doha Round

(3) Brettonwoods Round | 4) Uruguway Round
R FIR FHTT BT S5t anrtem AT S e &
(1) €3 amtaw 9§ {2) <ver Aot @
(3) FeToeH artow ¥ @ SR T Y

78. Which are the two major ideas running through the traditional approach of
management ? : ' ' '

(1) Diagnose and Analysis
{2) Functions and Prmaples
(3) Management levels and Understanding
(4) Management dynarmcs and Performance
mﬁmmﬁmﬁﬁﬁmmﬁﬁ%?
(1) e vd favergor
(2) 71t w3 Rgrar
(B) ¥ ®R U7 Hwser
4) vy 1e vd P
71. F.W.Taylor and Henry Fayol were the two :
(1) management radicals of their time
(2) management experts of managerial leader, leadership and motivation
(3) organic management medalists
(4) critics of Lyndall Urwick
Tho By TR T B9 B =) -
(1) 9 ¥ 3 ya7 Sy-gurard o
(2) YauAT Fan, Jgew vd dvom v o
(3) U v Feenemdt &
(4) forere RAT & woeres &
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78. Three statements are glven
a. Whena firmsetsa goal of Rs. 100 Crore sales, that goals serves as target.
b. mb.o. is also known as work plannmg and review. .
c. Individual goal setting is also called management by understandmg
Which orie of the following is correct about these three statements ?
(1) All three are correct ' (2) Only 'a’ and b’ are incorrect

_ (3) ‘a' and b’ are correct, ‘¢’ is wrong (4) Only b’ is c.;orrect

a oo RATIE |

3. mwﬁlmmma%ﬁmmmﬁa?ﬁaﬁﬂ‘r%magmm%mﬁ |
HTH BT 2 | : o

q. moﬁoaﬁoaﬁmqﬁgwmﬁahw.m%l

o e or Fei P TEHR g e A wE S 8

1 A o S R A B A @ A W E?

(1) dt por A ¥ | (2) 399 o W T TE ¥
(3) ‘o v 9 P ¥, W T ¥ (4)~'$T:ra‘a'aﬁ$§_

_ 79. The primacy of plannmg is after used to convey the : ....a" ... of planning and
. R 'b'...... heads are better than one conveys the group decision-making.

Which one of the followmg will correctly fill in the blanks ?
(1) premises at 'a’, many at b’ - (2) application at, a' mtelligent at’d’

(3) performance at,'a’ cooperatlve at 'b‘ 4) 1mp0rtance at,'a' twoat'b’

ArorT P SrSdr @ W ¥ ol o 8, A B e LB AR A AR T
Ww@ﬁ@%w%w%ﬁl‘ | : |

e ¥ & PrA-A1 TTRlr ®IA @ WY T ?

(1) o A e A w w (z)amaﬁgranmaﬁ

(3) - fAeare o #, ﬂ'a'aﬂfr q H (4) wexn & W, A £
MPHDURS-EE-2013/Commerce/(A) | - P.T.O
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20. A system thaf anticipates variations frﬁm the standards and take conhective action
~ before an error occurs', is called : | f
(1) Reactive control system (2) Closed control system
(3) Proactive control system (4) Open control system

’Wﬁvﬁmﬁﬁﬂwm_@mmﬁmmﬁgﬁsﬁﬁqﬁﬁmﬁw
.mm%‘,wwm%:

(1) s Frreor o= | ) st Frg=or T
(3) wAfFrareier Frg=mor a5 (4) g frgeor ov

81. Which one of the following stafemeht is correct ?
(1) Behaviour is the fuﬁction of people and environment
(2) Reinforceﬂqent approach to understand the leadership is a famous approach
(3) Role perception refers to occupancy and actual role behaviour
" {4) Motivation is not necessary for job performance
Frer 4 e oo e 7 |
(1) =aER @ & ararERer @ B 2
! (2) T B T & R g SurT T gRig w2 |
(3) -y afrrT i aRafie ofier waER B g @

(4) PP ¥ deon o @R | s
82. Something that refers to attractiveness or intensity of desire for some expected‘ p

behavioural consequence, is called :

(1) Iritrinsic behaviour (2) Valence

(3) Motive (4) Expectancy

mwmwwme%vﬁW%mmmwﬁmﬁm {

ot § S Fe & .

(1) 3=n{T =aER (2) AT

@ W (4) wearem
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83. Whlch one of the following view was originaily derived by analysing critical
incidents written by 200 engineers and accountants ! ?

(1) Two-need view (2) Hygiene and behaviour view
(3) Theory of role and behaviour (4) Maslow's need hierarchy view

2oosrrﬁﬁaﬁqamm§mﬁﬁhﬂs‘ﬁaamﬂwmaﬁaﬁmﬁmmﬁﬁﬁﬁﬂé

(1) CECICECE N SIRG AN C LR ' (2) Wreg-fA=F d AAaER fraR
o (3) 9fivT Td FIER SUFTA (4) e B TSR B gEen R
84. Affective, cognitiv-e and conative are the three eleménts of :
(1) Percepﬁon (2) Behaviour (3) Leadership (4) Attitude
AT, W T frargfis — A el o €
(1) I B @ @wwERD () @I (@) gD

85. A belief of providing a general guidance system is called :

(1) Counselling (2) Career development belief
(3) Perception | - (4) Value

A ARtee qoeh & R P e S @ |

(1) 7= | (2) smnRa wfy Raw

(3) 9 . (4) SwfiEr

86. Which one of the following combinations of approaches is the forerunner of modern
approaches to studying leadership ? | - : '

(1) Incredibility, Punitive, and Cognitive

(2) Active greatnian, Personality-trait and Leader behaviour

(3) Active, Pro-active, and Reactive

(4) Influence, Behaviour, and Contingency

%ﬁn@aﬂa—wﬁ@mmﬁﬁﬁmaﬁmmzﬁrw%?
(1) s, JMVEE G FEeTD _

() frardfra wem afm, wﬁaaﬁﬂumaeﬂﬁmaﬂw
' (3) P, omrefa de SRR

(4) UG, AER AT SATHRADGAT
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87. The 'Arc of Distortion' indicates the potential inaccuracy of :

(1) Two-ways communication (2) One-way communication

(3) Formal communication {(4) Informal communication
AP @ a0 sl sReeer R & -

(1) fg-art =y &Y (2) UPa-Art TR $Y

(3) shaenR T B — (@) srirreRe wEYor @)

88. The number system on which modern computers operate is :

(1) Octal number system (2) Hexadecimal number system

(3) Binary number system (4) Decimal number system:
TR Riven R ® o srer waiye @ & 9 B @

(1) srcHr v Rren : (2) YeuET e feew

(3) feommd W Rrew (4) TIWAT 9@ Rreen

89. A register that keeps track of next instruction to be executed is known as :

(1) an instruction register (2) a programme counter

(3) an accumulator (4) a data register
wmmﬁmﬁaﬁﬁmm%mﬁaﬁm%ﬁﬁmm%;
(1) & argae AR (2) T v FEeR

| (3) & FeE® (@) T ST PR
- 90. RAM s broadly categorized in : |

(1) SRAM, ERAM | (2) ERAM, VRAM

(3) VRAM, DRAM (4) DRAM, SRAM

IR T UH B R afNgg fbar oy & ¢

(1) UHo3RoToTHO TqYY éo&ﬂ?o(fo@o (2) §0311?0Q0'QT[0 AT FoaRoTouHo

(3) dloadRoYoTHo TIT EJodRoTYoTHo (4) S1o3ROToTHo TRAT TRHOINNOToTHo
91. RAID stands for :

(1) Reproduce Array of Inexpensive Drives

(2} Reproduce Array of Intelligent Disks

(3) Redundant Array of Inexpensive Disks

(4) Redundant Array of Inexpensive Drives

Wot{o&{lﬁO@OWE‘fﬁT%I

(1) Rorege R sifs gvavmifie grege @ fny

(2) RIregE W sifr sferere v @ f2ry

(3) ReS W §if govawifte Rema & fm

(4) Ree= W e Fvawnife saw & fol
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g92. Light penis frequently used in:

(1) A computer aided design - (2) Word Processing
(3) Presentation _ ' (4) Spread sheet
ATEE U TR AT § W S o
) (1) e’ Werdr g o # (2) & UFHAT H
(3) WIS | (4) wrs-die L
v 93. To interconnect two homogeneous WANS, we need : | |
(1) abridge (2) a gateway (3) arouter (4) ahub ' _ "
o FeeTET WANS ®1 S & o & o Tl B - R
1) whEd () e A G) @ ER B (4) T T H
94. Which one of the following techniques is the best suited for bank cheques ?
(1) OCR "~ (2) OMR ' (3) BAR (4) MICR
ﬁ%ﬂﬁﬁ%‘ﬁﬁﬁﬁﬁﬁﬂ—ﬁmﬂﬁﬂﬁwﬁmﬁﬁ%?
(1) SoHloRo (2) 3{ToTHOIRO (3) dloTodRo (4) THOSMGoH0ARO
' 95. Internetisa: _
(1) LAN ' ' (2) WAN
(3) MAN (4) Both LAN and MAN
' " g BAT R |
(1) TEOTT | Q) sELTe
' (3) THoYoTHo - (4) TeoRoTTo Tl THoYoyHo B
| 96. In which transmission mode the flow of information is bidirectionél at the same
time ? _ o - :
(1) InHalf Duplex (2) In 'Simple.x
(3) In Full Duplex (4) In Liquid Window
el & fr qd e B v e @ w3 R-Rs g @ 7
(1) T 0 R d
BEOR ik @) fafrs i %
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97. Which one of the foll'owing.is the smallest memory size ?
(1) Terabyte (2) Gigabite (3) Kilobyte (4) Megabyte
'ﬁm#ﬁmmﬁﬁﬁmm&ﬁﬁfﬁ%? |
(1) <RmmEe 2) Prmamge (3) framamse (4) TMaEge

98. LCD stands for

(1) Liquid Colour Display (2) Light Colour Display

(3) Lithium Crystal Display (4) Liquid Crystal Display 3
Teio Ho o Hry Ay & - ' ‘

(1) fofde sor et 3 R 2) w3 TR e & Ry .
(3) foRrm frwea vy & Ry 4) fofdrs frea e @ RRY

99. Computer network which spans over a large geographical area is : "
(1) LAN - (2) VAN | (3) WAN (4) MAN
| meqaﬁmvﬁq‘csa%ﬂ?maaﬁméﬁm%,agsﬁm%:
(1) THoYoro (2) drovors (3) S=YoToTo  (4) THoToTHO

100. How can you create a uniform appearance by'adding background image to all slides ?
(1) by creating a template
(2) by editing the slide master

(3) by using the auto correct wizard

(4) by editing and creating all of the above | R
wﬂmmaﬁmqmm%gmmwﬁﬁwﬁam?ﬂﬁ%?

(1) & w9 & gy 1
2) ¥FS AR B WIET g

(3) et BT A 1 winT wv 4

4 WW$W@W$W
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